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BEEISE 151, 476, 097
MiEIEE 21,304, 612 + 40, 655, 300 61, 959, 912
HEREE G 5,838,904 + 14,647,738 + 817,970 21,304, 612
#BREE (L) ' 5,838, 904
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BRiGERE 172,780,709 x 23.53% ((21.34% +1.50% x 1.03) 40, 655, 300
TERIE 151,476,097 + 61,959,912 213, 436, 009
—REERES 213,436,009 x 15.46% (15.46% x 1.00) — 8,589 32,988,617
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A 5.00 26, 570. 00 132, 850
EEFES
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B 1.00 3,459, 028. 00 3,459, 028/6.00H / 8H
& $830017%
B 1.00 125, 088. 00 125, 088|8H
5l $8D 450PSE!
B 1.00 176, 375. 00 176, 375/2. 00H / 8H
B $iD 5t
B 1.00 238, 443. 00 238, 443 8H
HER
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EUT
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F5:9
B BN RERE %Y (10m)
4 [ R - ARTE By = B Ofh & ] B =B & &
g L—tEmR 45~50t A
=] 0.70 342, 809. 00 239, 966(6. 00H / 8H
B $M300t7E
=] 0.70 125, 088. 00 87,561|8H
5l $8D 450PSE!
=] 0.70 176, 375. 00 123, 462|2. 00H / 8H
58 $fHD 5t/
H 0.30 238, 443.00 71,532|8H
N Janv 60kW (& L— &M, EEHEMR)
B 0.70 34, 530. 00 24, 171(6. 00H
R &) D300A
=] 0.70 4,854.00 3,397
RMFREM (KA AXRR - AR, &K | (B A R xH5E) 150kVA
BT . EBHREBEHE) | 0.70 23, 802. 00 16, 661
HEEE
A 0.80 26, 360. 00 21,088
EUT
A 1.30 26, 570. 00 34, 541
BEL
A 0.20 28, 560. 00 5,712
LTEEXE
A 0.80 22, 260. 00 17, 808
A 2E0Y
% 0. 50 645, 899. 00 3,229
& F YE%8EH - 10.00m 64, 912. 00 649, 128
£:10
& BHMEH J—X# (H-300x300x 10 x 15) 1KLY
£ b R - BIKTE =X v = B & %8 W E B %
B H300 x 300 % 10 x 15mm
& 4.00 44, 276. 00 177, 104
PR H300 % 300 % 10 x 15mm % 10m
i 2.00 25, 593. 00 51,186
& B {E%8EH : 1.00=X 228, 290. 00 228, 290
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&EE 1
B AVVIE MiTh (KR IEED)
4 [ R - BIKTiE B = B {f € % bici & &
EinE
=® 1.00 676, 361.00 676, 361
=)
= 1.00 1,441, 820. 00 1,441, 820
& B YE¥HEA - 1.00E] 2,118,181.00 2,118,181
BB 12
2% AVVIE Mtk (') IZED)
£ L] R - BIKTiE B = B {f & i & &
BELE
=® 1.00 676, 361.00 676, 361
=)
= 1.00 1, 441, 820. 00 1,441, 820
& B fE¥HEA - 1.00E] 2,118,181.00 2,118,181
&5 :13
B RERMEER B ER) . BRA 1X4Y
% b R - BAIKTiE B = B{f € # # w5 &
EVBEHEER
= 1.00 48, 076. 00 48,076
WEL - FHAHER
= 1.00 9, 654. 00 9, 654
& it {E%8EH : 1.00=X 57, 730. 00 57,730
&S 14
2 REMEER BHER). A IEE=D)
2] Lo R - BIKTiE B = B O{f & % # B %
EVBEHEER
= 1.00 8,667.00 8, 667
BEL - #FAHER
=® 1.00 2,790.00 2,790
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B RERMEER B Em). K ==
4 [ R - BIKTiE B = B {f € % B =B & &
EVBEHEEER
=® 1.00 48, 076.00 48,076
WEL - #EAHER
= 1.00 9, 654. 00 9, 654
& it 1E%8EH : 1.00=K 57,730.00 57,730
&S .16
2 REMEER BH EDR). K IEE=D)
£ L] R - BIKTiE B = B {f & B =B & &
EVBEHEER
=® 1.00 8,667.00 8,667
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= 1.00 2, 790. 00 2,790
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B REBERM FESH 1X4Y
% b R - BAIKTiE B = B{f € # W = w5 &
TEERM FRP D 180PS%!
=] 15.00 92,414.00 1,386,210/6.00H / 8H
AH 2A0%
% 0.50 1, 386, 210. 00 6, 931
& B {E%8EH : 1.00=X 1,393,141.00 1,393, 141
&5 .18
2% KEREH #HiTh IEE=D)
2] Lo R - BIKTiE B = B O{f & % IS B %
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= 1.00 23, 300. 00 23,300
& it {E%8EH : 1.00=X 23, 300. 00 23, 300
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EE:19
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% b3 g - BAIRTE BfL H = B & # = w5 &
EihA
L 464. 00 92.00 42, 688
Bl R
L 80. 00 84.90 6,792
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